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PART - A
Answer any 10 questions (weight 1 each) :
1. Define parameter and statistic.

2. Define Fistern ‘t’ statistic.

3. If X ~N (u, 0®) state the distribution of sample mean X based on a sample of
size 'n’.

State the Cramer Rao inequality.
Distinguish between point estimation and interval estimation.
Define F-statistic and state its probability density function.

Define type | error and type Il error. -
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Distinguish between one tailed and two-tailed test.

9. State the applications of X° -distribution in testing.
10. What is meant by paired t-test ?

11. Define the degrees of freedom. (10x1=10)
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PART-B

Answerany 6 questions. Weight2each :

12,
13.

14,

15.
16.
17.
18.
19.

20.

Obtain the moment generating function of x? -distribution.

Describe the desirable properties of a good estimator.

1
If f(x) = b_g’'a<X< b, find maximum likelihood estimator of a and b.

Explain the method of moments.

Explain the Neyman-Pearson approach of testing of hypothesis.

Explain the procedure for testing equality of two population proportion.
Explain the procedure for testing homogenity of variances.

Obtain the interval estimates of 95% confidence for the population variance

o? if s?, sample variance is 12 based on a random sample of 15 observations.

Explain the procedure of x> -test in testing of goodness of fit. (6x2=12)

PART-C

Answerany twoquestions. Weight 4 each :

=0

22,

23.

24.

Can vaccination be regarded as preventive measure, using the following data. Of
1482 persons exposed in a locality 368 were attacked. Of 1482, 343 were
vaccinated and of there only 35 were attacked.

In a random sample of 500, the mean is found to be 20. In another independent
sample of 400 the mean is 15. Could the samples have been drawn from the
same population with standard deviation 4.

A certain stimulus administered to 10 patients resulted in the following increase
in blood pressure. 5, 2, 8, -1, 3, 0, -2, 1, 5 and 0. Can it be concluded that the
stimulus will be accompanied by an increase in blood pressure.

In random sampling from a normal population N ( i, 52) find the estimators by the
method of moments. (2x4=8)




